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21.

22.

23.

24.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

Using a K-Map, find the simplified form
(SOP/POS) for the expression )

Y=BC'+AB + ABC+ A'BCD' + AB'C'D+ AB'CD
Gleuafliumiigy Hamrer maﬂmmuu@gguuu_ qu_an,Gmg,
(SOP/POS) setsr_Huwiaib.

Y=BC+AB + ABC + A'BCD' + A’B’C’D + AB'CD

Explain the working of a BCD UP/Down Counter.

BCD  UP/Down Counter @er Geweéum e
elleTdsaLb.

Explain the working of 4 bit serial i in parallel out
shift register.

4 @wss Qe o erai( LHMLS @Gmm Qeuaflui®
Gumrreq ug]gﬁ]cmu_l oflaré s,

Explaln the operation of square wave generator
using op-Amp.

op-Amp g0 LwearLsd ssr S Qupdlufen
Gewdum e aflerds.

Explain the working of Successive Approximation
type Analog to Digital Converter.

gutﬂsuasasg,mg, ,E;IT-EIS&QLDI‘I’&» LDrI'ﬂ')Q]LD

2APE50ES
snymu (penpn Coumamantt allerss.
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Time : Three hours

Maximum :.75 marks
PART A — (10 x 2 = 20 marks) |

Answer any TEN questions each in 30 words.

What is Radix of a number system: Give the
general positional weighting principle.

araitr e LIGlen DigoTand eTenTd ereien? GLiTg
Blene eTenLufl e Qareransanws Gl kiser.

Convert the following Hex Numbers to its binary
equivalent

() 4F2E
() OEF7

Yereugpid  Glamsev  crargener g6 anuanl
FLDIDTETSTS LOMDHDELD .
(=) 4F2E

(<) OEF7

What is a truth table? Draw the Truth Table for
three input NAND gate.

D GHTEDLD <DL GIGHENT GTEDITE) GTEan? (e 2 6Tel()
NAND  amigises D GHIEHL - DL eUuenemTenw
QU TWIGYLD. '

What is a controlled inverter?
SLEUUESSIULL LFlily GTEmDITE) 6Teimen ?



10.

11.

12. .

What is a counter?
eramentl eTaTmmed 6T6bTERT 7

Distinguish Latch and Flip Flop.
Hlaeaed whmid Heaewwrhl CouguBsstisdr.

What is a synchronous system?
RESMEUTaT DELOLIL| GCTETDTE 6TaTE ?

Define band width of an operational amplifier.
Gewdum @ Qui¢m& & uletr UL DGOFNSG
UMTWDISESH|LD.

If the supply voltage is —12 and +12, then what is
the output of summing amplifier when the inputs
are 6v and 7v.

o_drat(pser 6v whHmd Tv s &(&LD Gurr F (L&
Qumsdluler Qauatiuig) Grstrretﬂ?@® = =S

How many flip flops are required
(a) to store 8 bits and

(b) to count upto 25

assman flavawrbiladar Caame

(=) 8 Qassmsmer Cellss wHoib
(<) 25 aueny samsElL.

What is the application of Schmitt trigger?
Schmitt gram@Gseler LwerLT@ eTemen?

Give the block diagram of SAR A/D conversion.
SAR  A/D  ovrppsder  Qsred wmruLsoss

AL OIS
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13.

14.

15.

16.

17.

18.

19.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions each in 200 words.

Simplify the Boolean expression using K-Map.
Y =¥m(0,1,6,7) +d (2,4,5).

K-Guueuu vweru@sd yellwer Geuefltium e
aeflgrsgmadar Y =2 m(0,1,6,7)+d(2,4,5)

What is a Full Adder? Draw the AND-OR logic
circuit for adding three bits at a time.

P Sl aeanprd eTarar? @@ GhHISHD eparm)

Qasstsmer gl (PeughEe AND-OR  argds

FiGLpL Nl GUEnTUIGLD.

What is a multiplexer? Draw the block diagram of
8 into 1 MUX..

LIGENS ﬁeﬁ‘rfnn&é\ erammred ererran? 8 X 1 Liwms
QETDI&ES &L U TLIL LD 6IEnTaH.

How a JK flip-flop ‘can be converted into D and T
flip-flop?

JK Beawrpileow D opmw T Heewrpdlsarns
DTHDiGUG 6TLILIg.?

What is a Ring counter?

QUMW GTEHTEw! GTGTDTE) GTEHTERT ?

Explain the operation of a Comparator.
@@ U FudureaL aflaréssab.
Give the pin and block diagram of 555 IC.

555 IC ér pamanuid wHgIb CgrEH umruLSmss
Qar@."
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